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INDUSTRIAL ENGINEERING

fruffa @« di7 @) (3Afereham 37 : 70
Time allowed : Three Hours] [Maximum Marks : 70
Az (i) W ¥ HAEE 8, 99§ 8 gl oid & IR g/

Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.

(i) e 5 & @M AT ) FHEAR O 1 & FIT |
Solve all parts of a question consecutively together.
(iii) ¥ 59 %1 73 Y8 8 IR FIT |
Start each question on fresh page.

(iv) mwmnww?aﬁ@zﬁmaﬁa?ma?m?;

Only English version is valid in case of difference in both the languages.

1. (i) ToTadT Fl HHHATET |

Explain Quality.

(i) HTE G9A w1 giaTiya Hifae |
Define Standard Time.

(iii) wnfa=ag g2 7
What is Break even point ?

(iv) dfteyg 1 q9sse |
Explain Amortization

(v) WEH =TE 1 Sy Fediehi i Farsy |

Give symbols used in process charts. (2%5)

2. (i) urh fafa @ ge Hifse -
Solve by graphical method :
Maximise Z=18x+ 10y
Subjectto  4x +y <=20
2x + 3y <=30

x.y>=0

(10of4) P.T.O.
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(ii) Uh HY 1 IR geF T 7,000 B 991 9 99 9vETq 35HT 1G99 0 T 2,500 @
T | afe =T it gt ufa ad 3% & a arfieh faft 3 g i arfifes 22 3ma $ifs |

The initial cost of a machine is T 7,000 and scrap value after 3 years is ¥ 2,500. If
rate of interest is 3% per year, then find out the annual rate of depreciation by
Annuity method. (6+6)

(i) Toaerf swefema amn & fore gz wenfua Hifse |
Derive the formula for Economic Order Quantity.
(i) % gt formmr & ABC favero =6 angmge |

Explain the ABC analysis in inventory control. (6+6)

W

4. (i) e s e fE @t gfenfya fifse | Fgo & ger sqage w98y 4§
zqeh! fafy gmgmsu |

Define inspection and Quality control. Write down various types of inspection
and explain its procedure in brief.

(i)  Toreran faamor # wagea B aret fave frisror =2l =t dag | wwes |

Briefly explain various types of control charts used in quality control. (6+6)

5. (i) T aifof & fou Sead smtg s=ee va d.on. &1 yam & FifadhE 99 3714
wifem

Jadiaenj |9 | 8|8 |7|7|6|6|5|4]4]|3]|2
wadigei |8 | 7|6 |6 3 | 2 P2 T )
T 6 |11({6|0|9(9|8|6|7([11]|12]5
Draw network diagram and find critical path using CPM in following table :
Successor event j 9|8 (8|77 |6[6]5]|4|4]3]2
Predecessoreventi | 8 | 7 | 6 | 6 | S|4 |3 ]2 |21 1 |1
Activity time ‘t’ 6 1111610199188 |"7114-112] 5

(i) =1 % foqu e - 3o feafa feash (gord o) 3@ Hifsie -
IR Ay 2021-22 & feru fafesa wmma = 2 60,000;
srgwrfa fashr (few o st & o) = 2 1,80,000;
ufad-ta @Ta wfd 318 = ¥ 5 ufd g,
ud fasa qea wia 618 = ¥ 20 wid s
Find Break-even point-sales in units :
If Fixed Costs for year 2021-22 = ¥ 60.000;
Estimated sales for the period = ¥ 1,80,000;
Variable cost per unit = ¥ 5 per unit;
& Selling price per unit = ¥ 20 per unit. (6+6)
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6.

(i) e fereeaean & fagi=i @1 @wemsy |
Explain the principles of Motion Economy.
(i) |9F 3129 i ge fafy =1 augmgu |
Explain basic procedure of time study. (6+6)

(i) 9TES IUHWO § AT 541 GHgd 2 7 fafe= ares Iy & 4w fafau v frdt v
&P ITHTYT &1 Afea auig Hifau |

What do you mean by conveying equipments ? Name various conveying
equipments and describe any one conveying equipment with neat sketch.

(ii) IeTE FH T - 313 IgTaW1 Tfed THASY Ud 36 o Ud gl fafEw |

Explain Product type layout with an example and write its advantages and
disadvantages. (6+6)

= 4 3 ol flF w wflra fewforat fafiu
Write short notes on any three of the following :
(i) g edred
Batch Production
(i) 3eUTI ITHT
Hoisting Equipments
(iii) e HTEE T H YT HH ATl B
Factors affecting site selection of plant
(iv) HE-T=d AfTFHea
Work station design (4x3)
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